64

SUGATSUNE

RECESSED PULL HH-KL160

M4x8
STAINLESS )

I
>
e e |deal for harsh and high corrosive environments.
») e Compliant with SEMI S8-0600 guideline.
- e Spacer for sheet metal application sold separately.
Ic.,n, = 130
& 1 P (5-178")
U 2 (4»190564”) M4 x 0.7 I
-~ o [1i | —
5 - Spacer
PR | < E— (Optional : BSP-8)
9° Sheet metal mounting application
; = 3 1 3/ P *) lLos S T Hole
(@) . =1 oy —12 v F
?\bx
8 11{ 0
5 218 130
(55/64")
Cut Out Dimensions

Item No. Weight () Box (pcs) Carton (pcs) Material Finish

HH-KL160 260 8 48 304 Stainless Steel Satin
)
O RECESSED PULL O ol HH-KP150
I",n,
»
m * Compliant with SEMI $8-0600 guideline.

132
w (5-13/64")
113

g (4-29/64") |
F | 115 8

P RN Hole A
. m\@‘
®
4 b
&, -
5 505 | ap | ©
e, - 132
. ; ~ (5-13/64")
N :

&
oy
(%) = . .
ol X Cut Out Dimensions
o|Q
10 -l982°h
4 &

» B
< 111.4 7 \amsx08
& (4-25/64") (Copper plated steel)
Iltem No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-KP150 390 5] 50 304 Stainless Steel Satin

RECESSED PULL

(s O Y I
comoew  |_NUT_J [STAINLESS

HH-FB, HH-FC

- P1
-2 o e Ls——
© L3
11
oxT
- L) Q—{ ¢
- 4045/
F ' ! Cut Out Dimensions
| “ 43:*4?1 f rTTTTTTTTTY | ’jf T No.| Part Name Material Finish
T o £ [ ] oL @ | FrontPlate
- ol [ B ] @rjl bl @,Jl @ | BackCover | 3 | mirror (v)
® | M4stud Stesl | Satin ()
HH-FB HH-FC @ M4 Nut
Item No. Stud/Nut (L1) Lo Ls (H1) He Hs Ha P+ P2 (P3) Weight (g)
HH-FB-1/M| HH-FB-1/S| M4 Stud
HH-FC-1/M| HH-FC-1/S| M& Nut 138 96 99 88 62 21 64 110 65 11.5 170
HH-FB-2/M| HH-FB-2/S| M4 Stud
HhFo.2M RHFo.2/s MaNur | 1095 | 675 | 73 64 40 14.5 42 88 38 13 100
HH-FB-3/M| HH-FB-3/S| M4 Stud
Hhroam Rrrcas vane | % | © 63 60 43 12 45 76 32 145 80
www.sugatsune.com 1-800-562-5267

by SUGATSUNE

(U.S.A. Only)



